Entering Algebra 2 Math Packet

Parents and Students,

This summer you are encouraged to continue to practice your math at home. This can be
accomplished through regular math practice. This math packet is intended to be completed
over the summer break and turned in the first day of school. In order for this to be a successful
review packet please follow the following rules:

Show all required work

If worksheets are printed, you may write your work on the printed sheet

If worksheets are not printed, head each paper with the name of the worksheet

Please keep all work neat and legible, circle or box final answers

If you need help, view Khan Academy

It is okay to ask parents or older siblings for help

If all else fails, send a message to the math teacher through Remind Code @sumhelptcm

There are select answers provided at the end of the packet. This is meant to check your
answers and not to be a substitute for working through the problems. Each problem that
requires work shown should show all the steps. Any problems that require work that do not
show the steps will not be graded.



Part One: Order of Operations

Directions: Simplify each problem in the space
provided, circling your final answer. Final answer
should have all positive exponents and be in
simplest form. No decimal approximations allowed.

Example: 2° —(4+3%5) 1. (15-8)x3+5+48-6 2. 18+9x%x(5-2)+7
= (2%2%2)—(4+3*5)
=(8)—(4+15)
~8—(19)
=-11
7
3. 4#+2+8-60+3x6-3 4, (az—b)+6,usinga=6,b=12 5. (X}L}{)A

when x=-5

6. 2x*>—2x+24 when x=2 2 i
g 4 i1 o +5,when = 8. (a+ﬁg(—?——)
12x—4 a 3
when a =2




Part Two: Linear Equations

Directions: Solve each problem in the space
provided, circling your final answer. Recall: to
find x-intercept set y=0 and to find y-intercept
set x=0. To find equation of a line find slope
and then use slope and point to solve for y-

intercept.

Example: Write the equation of
4
a line that has slopem = i and

y-intercept b =-3
Use Yy =mx+ bthen

substitute values for ma and b
and simplify

yz:ix+—3
4

= %3

"7

9. Find the slope of the line
containing the points (4,-3)
and (-6, 4).

10. Write the equation of a
line that has slope

=—— and passes
9 P

through the point
(1 8> = 2)

11. Write the equation of the line
containing the points (1,3)
and (5,11).

12. Write the equation of the line
containing the point (—4, 6)
and parallel to 3x—-2y =38,

13. Write the equation of the
line containing the point
(3,56) and perpendicular
to 3x—2y=38.




Part Three: Rules of Exponents

Directions: Simplify each problem in the
space provided, circling your final answer.
Final answer should have all positive

exponents.
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Part Four: Simplifying Radicals

Directions: Simplify each problem in the
space provided, circling your final answer.
Final answer should have all positive
exponents and be rationalized. No decimal
approximations allowed.

Example: 22. 3./700 100
m 23. \[%
=4%6

=4 s 6
=26

24. 34700 + 247 25. (246 )e (3415) 26. V12 - /43
27. /75.7(.'3 ° ‘[3x3 8. 50a - BE CAREFUL:
2¥25a Ha+b =4a+ib

Na—-b :t%—-%
Na" +b" #a+b




Part Five: Simplifying Polynomials

Directions: Simplify each problem in the space provided, circling
your final answer. Final answer should have all positive

exponents and be in simplest form. No decimal approximations
allowed.

Example: 29. (7x-2y)—(Bx+5y) 30. —7x(2x—-9)

(4x* +7x—12) —~ (3x* +5x+2)

=4x> +Tx—12-3x* —5x-2)
=4x* —3x> +Tx—5x—12-2)

=0 — 4
3L (SBx+y)+(2x—y) 32. Bx+4)(2x-9) 33. 7(3x* +10x) —4x
34. 3x* +10x—4(x—7) 35. 3x* +5)(2x-3) 36. (Bx+y)(2x—y)




Part Six: Factoring

Directions: Factor each problem
completely in the space
provided, circling your final
answer. Recall: if not
factorable, it is “prime”.

Example: 37. x2 +6x+5 38. x> +x-6
3b* +15b+18

=3(b* +5b+6)

=3b+3)b+2)

39. 3x° +18x% +24x 40. 4n* —24n 41. 144x* -36

42. 2x* +7x—4 43. 2x° +10x* +124° 44.2x° +3x* -8x—12




Part Six: Solving

Directions: Solve each problem completely in
the space provided, circling your final answer.
Recall: For quadratics you may need the zero-
product property... if ab=0, then a =0 or

b=0.

45.3(x—7)+5=2x-8

47. (x+4)(9x—3)=0

48. > +x-12=0

49. x*+2x-35=0

50. x* +3x=-1

51. [1-4x|=5

52. -4x+7<5

53. 24x-3=5




Part Seven: Systems of Equations

Directions: Solve each problem completely in the space provided,
circling your final answer.

3x+2y=2 y=-3x+1 y=2x-2
54. 55. 56.
9x-8y=—4 6x+2y=10 75y =15x-15

Part Eight: Systems of Inequalities

Directions: Solve each system of Inequalities by graphing.
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Select Answers

Order of Operations

1) 68 3)-49 7)-1/2

Linear Equations

9)-7/10 11)y=2x+1

Rules of Exponents

14) 1/ 49x2 16) -3a2 20) 625/256

Simplifying Radicals

22) 30v7 24) 32v7 27) 15%3

Simplifying Polynomials

29) 4x — 7y 31) —x 36) -6x2+5xy-y?
Factoring

37) (x+5)(x+1) 40) 4n(n-6)  43) 2x3(x+3)(x+2)
Solving

45) 8/5 48) -4, 3 52) x>1/2

Systems of Equations

54) (4/21, 5/7)



